LumSource Assembly Instructions

Display Bar Table + Storage netractions A/Assomblén

Part # T39-DISPLAY XX+XX 21-1122

PARTS P
0 %
X12 X6 X2 X16
(M6 x12) (M6 x 40) (M6 x 40) (M7 x 50)

A B C D E

Ax?2

Do not over tighten.
Do not use power tools to assemble.

www.LumiSource.com




LUH%SUU[‘CEH, Assembly Instructions

Instrucciones De Asamblea

Displa Bar Table + Stora (] e Instructions d’Assemblée

Part # T39-DISPLAY XX+XX 21-1122

3 4

Do not over tighten.
Do not use power tools to assemble.

www.LumiSource.com




	T39-DISPLAY_211119_AI
	T39-DISPLAY_211119_AI_Page_2

